2A: AXIEH

HH: CHEC I Y RAATUSHUUDDHT/LUHE

a2
4

02

10

Chel: DIZHCHY SO X CCRLE
(=3

PADNESES N, 5,849,364 5,863,993 214,629
= 839,252 836,881 2,371

= 5,010,112 5,027,112 217,000

CHEO S ¥ UXAHASH(LPSIHT/UBHEH) 4,001,468 4,016,097 A 14,629
= 815,783 813,412 2,371

= 3,185,685 3,202,685 217,000

It =E3E0 A& 1,328,000 1,345,000 217,000
MOIEXNEXR 4 217,000 244,000 A27,000
308 XXM S0l ™ 137,000 164,000 227,000

01 AXSHBLEEXS 137,000 164,000 227,000
OMOIEZXEX IHAZEES 137,000 164,000 227,000
S8HH S T3E02S g4 76,000 66,000 10,000
201 Et2HH| 15,000 5,000 10,000

01 At 22l H| 15,000 5,000 10,000
OZETs & HAREUHE 28I 10,000 0 10,000
NAHASMHHIA WS 653,981 651,610 2,371
= 295,681 293,310 2,371

== 358,300 358,300 0

HAL=E 2E(=0) 295,681 293,310 2,371
= 295,681 293,310 2,371

201 B2 14,321 12,567 1,754

= 14,321 12,567 1,754

01 AtR 22| | 14,321 12,567 1,754
oozdds 28 dIXA 14,321 12,567 1,754

= 14,321 12,567 1,754

308 AtXI M SOI™ 279,360 278,743 617

= 279,360 278,743 617

0Ol IXEHHBIMEES 279,360 278,743 617
oNALSYUR &I 29 279,360 278,743 617

= 279,360 278,743 617
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